[ HhX &+ HAf ]

SMIELA

5. BA. B, A, 2V U—+HE

B Ol ()
% 7 b7} BAL HE |2%8H| Fk i W= BHE |BIFFRER| BIAFES| BA (1) [ BF(2)| KK p=Sal RE | KH(1)
01 02 03 04 05 06 07 08 09 10 1 12 13 14
R:2=NR

B (HE) avyU—+H M3 [Hkk 3,050 |k i 4,000 |k fid - 3,300 ) 3,500 — [k

B (GEE) avyU—+H M3 [Hkk 3,150 |k i 4,000 |k fid - | 3,500 ) 3,500 — [k
HHERG 5~2. 5mm m3 |k 3,900 |k i 4,000 [k ook - = 13,100 [k - — [k
HHERG 13~ 5mm m3 |k 3,900 |k i 4,000 |k fid - = 13,100 [k - [ 6,200 [k
HHERG 20~ 13mm m3 - - - - - - - - - - - - - -
HMERERA M-30 m3 |k 3,500 |k i 3,900  |#ex fid 3,000 |skx 2,800 |sokk 3,300 | 6,000 [k
HMERERA M-40 m3 |k 3,400 |k i 3,800 |#ek fid 2,900 |k 2,750 |sonk 3,200 | 6,200 [k
BERERERT RM-30 m3 - - - - - - - - - - - - - -
KIBEMERERER S Y HMS-25 m3  |dekx 3,200 2,800  |#kx 3,550 2,900 [k 3,000 2,800 2,800 5, 600 3. 300 6,000 |#kx
V9= UHBMRS Y CS-40 m3  |dekx 2,500 2,500  |#okx 3,150 2,170 [%kk 2,300 2,300 2,000 2,500 2,700 3,400 |#kx
hAa< SP m3 2,250 2,350 2,350 2,500 3,000 2,020 1,950 2,150 2,150 1,850 2,500 2,550 3,250 1,550
Ba 5~20mm m3 [k 3.400 |k Forok 4,000 |k Fopk - [ekx 2,900 |k 3. 400 6.200 |#okx
BE 5~40mm m3 3,100 3,400 3,200 3,050 4,000 3,100 3,300 - 2,700 3,000 5, 800 3,400 6, 200 2, 800
V9539w —52 C-30 m3 [k 3.500 |k Forok 3.800 |k« Fopk 2,900 |k 2,650 |k 3. 200 6.000 |k«
V9539w —52 C-40 m3 [k 3.400 |k Forok 3,700  |#ekx Fopk 2,800 |k 2,550 |k 3.100 6.000 |k«
BEISYI NIV RC-40 m3 [k 2,500  [Hxk *kk 3,150 |k ok 2,300 [Hxx 2,000 |k 2,700 | 3,400 |
M#EH m - - - - - - - - - - - - - -
BER 5~15¢m m3 [k 3.900 |k Forok 4,100 |k Fopk 3,600 |k 2,900 |k 3.700 6.300 |Hokx
BER 15~20cm m3 [k 4,200 |k Forok 4,300 |k Fopk 3,700 |k 3.000 |k 3. 800 7.000  |#okx
R 15em 4+ m3 4,000 4,200 4,000 4,200 - 13,400 3,700 3,700 3,700 3,400 - | 3,600 6, 500 3,300
BEER 5~15cm m3 - - - - - - - - - - - - - -

F) 1. RGEEMET S

|- BH

b=l 5~100ke/{& m3 4,200 4,000 4,000 4,000 - - [ 4,700 - - - - - - | 4,700
b=l 200ke /1@ m3 5,200 4,700 4,700 4,700 - - 5,700 - - - - - - | 5,700
b=l 300ke /& m3 5,200 4,700 4,700 4,700 - - 5,700 - - - - - - | 5,700
b=l 500ke /& m3 5,200 4,700 4,700 4,700 - - 5,700 - - - - - - | 5,700
b=l 1000ke /& m3 5,200 4,900 4,900 4,900 - - 5,700 - - - - - - | 5,700
rz=l 2000ke/{& m3 - - - - - - - - - - - - - -
B R 1000ke/{E LT m3 4,500 4,500 4,200 4,200 - - [ 4,700 - - - - - - 14,700

F) 1. RiELRAELMEET 5.




[ shXEHMEM ] HF3F4A

5. BAE. B, B8R, 3V ) EA
BOffi (M)
£ fu i % BAL HE |2%8H| Fk i W= BHE |BIFFRE| IAFEES| AHE (1) |HA(2)| RHK b=$11 AE | K7 (1)
01 02 03 04 05 06 07 08 09 10 11 12 13 14

caYvHyU—+AS
#wJavy # £ 35cm m

7,700 | 7.700 | 7.700 | 7.700 | 7.700 | 7,700 | 7.700 | 7.700 | 7,700 |#kk

7.700 | 7.700 | 7.700 | 7,700
7,000 [7.000 | 7,000 | 7.000 [k

EHiJAvY HER22cm m 7.000 |7.000 [7.000 |7.000 |[7.000 |7.000 |7.000 [7.000 |7 000
F) 1. RGEEMET S




[ shXEHMEM ] HF3F4A

5. BA. B, BA. 3V )—tHG

B @ ()
% Eag b7} B | K (2)| K2 (3)| BAM | #BAR | L& £l | X% (1) | KH(2)| F8 H ES | KAS | XH T
15 16 17 18 19 20 21 22 23 24 25 26 21 28
R:2=NR
B (HE) avyU—+H m3 3,200 | 3,000 [k 2,950 | 3,200 |k fid - e - - 2,900 -
B EE) avyY—+rHA m3 3,200 3,000 [k 2,950 3,200 |#okk Fokk = [ 4,250 [kx - | 5,500 2,900 4,550
BHERA 5~2. 5mm m3 3,400 3,000 [k = [3,800 [Hx Fokk = [4,000 [Hxx - | 5,150 3,800 4,400
BHERA 13~5mm m3 3,400 3,000 [k - [3,800 [Hkx Fokk = [4,000 [kxx - | 5,150 3,800 4,400
HUuERA 20~ 13mm m3 - - - - - - - - - - - - - -
MERERE M-30 m3 2,800 | 2,800 [k 3,000 | 3,600 |k Hohk 3,500 | 3,900 |k - 4,950 | 3,400 |4, 300
HMERERA M-40 m3 2,700 | 2,700 [k - — [k fd - - [k - - - -
BERERERT RM-30 m3 - - - - - - - - - - - - - -
KIBEMERERER S Y HMS-25 m3 2,800 2, 800 2,400 3,000 3,200 |#okx 2,800 3,400 3,500 3,000 - - 13,300 3,800
V9= UHBMRS Y CS-40 m3 2,000 1,900 2,050 2,300 2,500 |#okx 2,250 2,800 3,000 2,400 - - |2 800 3,600
hAa< SP m3 1,850 1,750 1,900 2,150 2,350 2,250 2,100 2,650 2,850 2,250 - - 12,650 3,450
BE 5~20mm m3 3,400 3,100 [k 3,050 3,600 |#kx Fokk 3,600 3,850 |k« - 14,950 3,600 4, 650
BE 5~40mm m3 3,300 3,000 2,500 3,050 3,500 2,950 2,900 3,600 3,750 3, 600 - | 4,850 3, 600 4,550
V9539w —52 C-30 m3 2,700 2,600 [k 2, 800 3,500 |#okx Fokk 3,400 3,800 |k - | 4,850 3,500 4,200
V9539w —52 C-40 m3 2,600 2,500 [k 2,700 3,400 |#okx Fokk 3,300 3,700 |k - | 4,750 3,400 4,100
BEIS v XSy RC-40 m3 2,000 1,900 [k 2,300 2,500  |#okx Fokk 2,800 3,000 |k - 14,150 3,050 3,600
M#EH m - - - - - - - - - - - - - -
HEXS 5~15¢cm m3 3,400 3,000 [k 3,050 3,550 |#okx Fokk 3,500 3,700 |k - 14,900 3,500 4,400
HEXS 15~20cm m3 3,500 3,100 [k = [ 4,050 [Hkx Fokk 3,600 4,100 |k - | 5,400 - | 4,800
R 15em 4+ m3 3,500 3,300 3,300 3,600 4,050 3,600 3,400 3,600 4,100 3,700 - | 5,400 3,900 4, 800
BEER 5~15¢cm m3 - - - - - - - - - - - - - -
X)) 1. RGEEMET S 2. BB (25). RAB26O)#HRIET7 ) —BEEZEL.
|- &R
b=l 5~100ke /& m3 4,700 - [ 4,90 4,700 4, 400 4,400 - - - - | 4,500 5,200 - 15,200
b=l 200ke /1@ m3 5,700 - [ 5,600 5,400 5,100 5,100 - - - - | 5,500 6, 200 - 15,900
b=l 300ke /& m3 5,700 - [ 5,600 5,400 5,100 5,100 - - - - | 5,500 6, 200 - 15,900
b=l 500ke /& m3 5,700 - |5, 800 5, 600 5,300 5,300 - - - - | 5,500 6, 300 - 6, 100
b=l 1000ke /& m3 5,700 - |5, 800 5, 600 5,300 5,300 - - - - | 5,500 6, 300 - 6, 100
rz=l 2000ke/{& m3 - - - - - - - - - - - - - -
B R 1000ke/{E LT m3 4,700 - [ 4,800 4, 600 4, 300 4,300 - - - - | 4,500 5,200 - | 5,100
) 1. RSB BRAELMEES S, 2. BB (25). RAB26O)HRIET7 ) —BEEXEL.,




[ thX &+ Bl ]
5. BA. B, B85,

SMIELA

avyy—rE&

& ffi ()
% # # B (k5@ [xn@)| B [ 228 ] b8 | #68 [xB0)[x8@)] T8 [ 78 | ®8 [ xAs| x8 | @1
15 16 17 18 19 20 21 22 23 24 25 26 21 28
‘avsy—tES
#wJovy # K 35cm m 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700 1,700
EfiJavy #E22cm m 7,000 7,000 7,000 7,000 7,000 1,000 7,000 1,000 7,000 1,000 7,000 1,000 1,000 1,000
H) 1. RBAEMET 5. 2. BB25). ANBQORKE Iz —BEEEE,




